
LOTE MOSAIC CÓDIGO DO SAP DESCRIÇÃO DO ITEM UMB QUANTIDADE

7140 - 008 70091378 ANEL DESCIU15023122 DOC PEÇ 2
7140 - 008 70099136 ANEL POS.11 CBC PEÇ 1
7140 - 008 70099136 ANEL POS.11 CBC PEÇ 1
7140 - 008 70099137 ANEL POS.16 CBC PEÇ 1
7140 - 008 70099172 ARRUELA DESCIU1504212 DOC PEÇ 448
7140 - 008 70099172 ARRUELA DESCIU1504212 DOC PEÇ 153
7140 - 008 70029706 BICO DESCIU15045012 DOC PEÇ 2
7140 - 008 70014253 BUCHA 74,612X100,00X153,00MM BRONZE 660 PEÇ 2
7140 - 008 70014253 BUCHA 74,612X100,00X153,00MM BRONZE 660 PEÇ 1
7140 - 008 70092231 BUCHA DESCIU2102466 POS.2 DOC PEÇ 76
7140 - 008 70094617 BUCHA DESCIU5102387 DOC PEÇ 2
7140 - 008 70095715 BUCHA DESCIU5102398 DOC PEÇ 1
7140 - 008 70094629 BUCHA DESCIU6102308 DOC PEÇ 3
7140 - 008 70095722 BUCHA DESCIU6502328 POS.306 DOC PEÇ 2
7140 - 008 70091687 BUCHA REDONDA 75X155X300MM TEFLON KG 9
7140 - 008 70080454 BUCHA ROLAM FIXACAO 40MM SKF-H 209 PEÇ 1
7140 - 008 70090808 BUCHA ROLAMENTO H211 50,00MM PEÇ 3
7140 - 008 70090860 BUCHA ROLAMENTO H218 80,00MM PEÇ 2
7140 - 008 70091479 BUCHA SEENI6502321 DOC(M) PEÇ 1
7140 - 008 70090941 CAIXA ROLAMENTO SNA509BPTS 1.1/2IN PEÇ 2
7140 - 008 70062650 CHAPA DESCIU17026001 POS.4 DOC PEÇ 3
7140 - 008 70033800 CHAPA DESCIU21013139 POS.1 DOC PEÇ 116
7140 - 008 70062678 CHAPA DESCIU21045189 POS.8 DOC PEÇ 145
7140 - 008 70091209 CHAPA MITSUBISHI CN77954234 PEÇ 2
7140 - 008 70091209 CHAPA MITSUBISHI CN77954234 PEÇ 2
7140 - 008 70091170 CHAVETA 02014 MITSUBISHI PEÇ 3
7140 - 008 70091170 CHAVETA 02014 MITSUBISHI PEÇ 3
7140 - 008 70091171 CHAVETA 02015 MITSUBISHI PEÇ 1
7140 - 008 70091171 CHAVETA 02015 MITSUBISHI PEÇ 1
7140 - 008 70021704 CHAVETA 108869DC02 POS.984 WEIR CM6B2012 PEÇ 1
7140 - 008 70020284 CHAVETA 485840 POS.7 ALSTOM PEÇ 1
7140 - 008 70005764 CHAVETA DIENG2104539 POS.5 DOC PEÇ 5
7140 - 008 70000239 COPO DESCIU15026053 DOC PEÇ 2
7140 - 008 70099054 DISCO DESCIU11023079 DOC PEÇ 1
7140 - 008 70095842 DISCO DESCIU5102360 DOC PEÇ 2
7140 - 008 70027751 EIXO 10068163 RENK ZANINI PEÇ 1
7140 - 008 70098668 EIXO 5220004 PTI PEÇ 1
7140 - 008 70098714 EIXO 5220030 PTI PEÇ 1
7140 - 008 70101455 EIXO 5220552 PTI CDA 1
7140 - 008 70098716 EIXO 5222032 PTI PEÇ 1
7140 - 008 70098878 EIXO 8000009033154 POHLIG HECKEL PEÇ 1
7140 - 008 70095218 EIXO DESCIU5102371 DOC PEÇ 1
7140 - 008 70091434 FLANGE DESCIU6202308 DOC PEÇ 1
7140 - 008 70091435 LUVA DESCIU62023012 DOC PEÇ 3
7140 - 008 70091486 LUVA DESCIU63023023 DOC PEÇ 1
7140 - 008 70091487 LUVA DESCIU63023024 POS.1/2 DOC PEÇ 2
7140 - 008 70091001 MANCAL ROLAMENTO SY35FJ PEÇ 2
7140 - 008 70003363 PARAFUSO DESCIU15023297 POS.1 DOC PEÇ 2
7140 - 008 70099178 PARAFUSO DESCIU15042020 DOC PEÇ 5
7140 - 008 70095602 PINO DESCIU2102322 POS.42 DOC PEÇ 2
7140 - 008 70095602 PINO DESCIU2102322 POS.42 DOC PEÇ 4
7140 - 008 70004660 PORCA DESCIU15032015 POS.25 DOC PEÇ 67
7140 - 008 70101764 PORCA ROLAMENTO FIXACAO 100MM KM20 BGL CDA 3
7140 - 008 70090816 PORCA ROLAMENTO FIXACAO 240MM HM3148 BGL PEÇ 1
7140 - 008 70099350 PREME ICMC2702605 POS.2 ICMC PEÇ 2
7140 - 008 70099350 PREME ICMC2702605 POS.2 ICMC PEÇ 2
7140 - 008 70099177 RODA DESCIU15042016 DOC PEÇ 2
7140 - 008 70099177 RODA DESCIU15042016 DOC PEÇ 1
7140 - 008 70125795 ROLAMENTO 157780 ROTEX PEÇ 2
7140 - 008 70125934 ROLAMENTO 22642 ROTEX PEÇ 2
7140 - 008 70125940 ROLAMENTO 358187 ROTEX PEÇ 2
7140 - 008 70080663 ROLAMENTO AGULHA NKIS50 ACO PEÇ 5

MOSAIC FERTILIZANTES



7140 - 008 70090694 ROLAMENTO ESFERA 1209ETN9 POLIAMIDA PEÇ 1
7140 - 008 70090712 ROLAMENTO ESFERA 2210 2RSTNG PA PEÇ 1
7140 - 008 70101587 ROLAMENTO ESFERA 2308 ACO CDA 1
7140 - 008 70015175 ROLAMENTO ESFERA 3209C3 LAT PEÇ 1
7140 - 008 70090181 ROLAMENTO ESFERA 3307A ACO PEÇ 1
7140 - 008 70090723 ROLAMENTO ESFERA 51207 ACO PEÇ 3
7140 - 008 70013019 ROLAMENTO ESFERA 5306AC3 ACO PEÇ 1
7140 - 008 70101627 ROLAMENTO ESFERA 6010 2RS1 ACO CDA 3
7140 - 008 70001171 ROLAMENTO ESFERA 6012 2RS1 ACO PEÇ 1
7140 - 008 70089893 ROLAMENTO ESFERA 6014 ACO PEÇ 1
7140 - 008 70089945 ROLAMENTO ESFERA 6210RS1 ACO PEÇ 2
7140 - 008 70090056 ROLAMENTO ESFERA 6213 2Z ACO PEÇ 2
7140 - 008 70101658 ROLAMENTO ESFERA 6214 ACO CDA 1
7140 - 008 70080748 ROLAMENTO ESFERA 6218 2Z ACO PEÇ 1
7140 - 008 70080443 ROLAMENTO ESFERA 6302Z ACO PEÇ 4
7140 - 008 70101684 ROLAMENTO ESFERA 6309ZNR ACO CDA 2
7140 - 008 70101706 ROLAMENTO ESFERA 6405 ACO CDA 3
7140 - 008 70080640 ROLAMENTO ESFERA 7319BECBM LATAO PEÇ 1
7140 - 008 70090165 ROLAMENTO ESFERA 7330BCBM LAT PEÇ 9
7140 - 008 70010996 ROLAMENTO ROLO 21313E1 ACO PEÇ 1
7140 - 008 70090632 ROLAMENTO ROLO 22207EK ACO PEÇ 1
7140 - 008 70090701 ROLAMENTO ROLO 22222E1 ACO PEÇ 2
7140 - 008 70003978 ROLAMENTO ROLO 22224E1 ACO PEÇ 1
7140 - 008 70090617 ROLAMENTO ROLO 22313E1KC3 ACO PEÇ 3
7140 - 008 70010613 ROLAMENTO ROLO 24026CCW33 ACO PEÇ 2
7140 - 008 70090342 ROLAMENTO ROLO 30311J2Q ACO PEÇ 2
7140 - 008 70090437 ROLAMENTO ROLO 31315A ACO PEÇ 19
7140 - 008 70090388 ROLAMENTO ROLO 32307J2Q ACO PEÇ 1
7140 - 008 70090443 ROLAMENTO ROLO 32324 ACO PEÇ 1
7140 - 008 70090450 ROLAMENTO ROLO 331274 ACO PEÇ 1
7140 - 008 70090195 ROLAMENTO ROLO 33206 ACO PEÇ 3
7140 - 008 70074679 ROLAMENTO ROLO 33217Q ACO PEÇ 1
7140 - 008 70090409 ROLAMENTO ROLO 35UZ8606 ACO PEÇ 5
7140 - 008 70090380 ROLAMENTO ROLO 3982/3920 ACO PEÇ 3
7140 - 008 70090205 ROLAMENTO ROLO 47487/47420A ACO PEÇ 1
7140 - 008 70090453 ROLAMENTO ROLO 565ASSY90016 ACO PEÇ 1
7140 - 008 70090191 ROLAMENTO ROLO 748/743 ACO PEÇ 1
7140 - 008 70012830 ROLAMENTO ROLO NJ212ECJ ACO PEÇ 2
7140 - 008 70098598 ROLAMENTO SUMITOMO 60UZS417 PEÇ 4
7140 - 008 70099822 TAMPA DIENG1103142 POS.9 DOC PEÇ 1
7140 - 008 70091690 TARUGO REDONDO 14,28MM 100MM PTFE PEÇ 4
7140 - 008 70086877 TARUGO REDONDO 50,8MM 150MM B438 KG 34
7140 - 008 70091662 TARUGO REDONDO 76,2MM 300MM PTFE KG 3
7140 - 008 70094386 TIRANTE DESCIU0007502 POS.5 DOC PEÇ 1


